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��
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 ' ������#
�� ����� (an)n 
��
 �
'��� ���� a0 > 0 ��

an+1 =
1

n
+

1

an
,∀n ∈ N.

%���	
� �� an → 1#
�� 7�
 (an)n�1 �� ��� �
 ���
�
 ������ �������
 �
���� �	�
∣∣∣∣an+1 −

an
1 + an

∣∣∣∣ � 1

n
,∀n � 1.
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��� ABC �� �������� ����	��� ���	��� ������� 	��	 �� ���
 ����
 	� 1�

��
���� 	
�  ����� ���	�  ��	� P ��� ���������� ������������ ABC�

PA+ PB + PC �
√
3

3
AB · BC · CA.
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"���� !� ��������� �������  ����� ���	�  ��	� P ��� ���������� ������

������� ABC �"��
PA+ PB + PC � 6r.
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�
# )������ ��
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��� 	�
� 2(PD+PE+PF ) �
PA+ PB + PC# 3
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ha+hb+hc � PA+PB+PC+PD+PE+PF � 3

2
(PA+PB+PC). (1)
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ha + hb + hc = 2S

(
1

a
+

1

b
+

1

c

)
� 2S

9

a+ b+ c
=

9S

p
= 9r. (2)
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�������� �� a+ b+ c � 3
√
3#

%�
	��	 �
����� ��
��	� ��� ������
�	�
	; ������ ����� ������������� ���
�	���� ������� 	��	 ���� 	�� ��  �������� ��#�� ���� 	�� �	���������#

�������� �� ��� ABC �� �������� $� P ��  ��	� �� ���������� �
��

���������� 	


AB
(
sin ĈAP + sin ĈBP

)
+BC

(
sin ÂBP + sin ÂCP

)
+CA

(
sin B̂CP + sin B̂AP

)
� AB +BC + CA.
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BA′ = 2R sin B̂AP � CA′ = 2R sin ĈAP #
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��
� AC ·BA′ +AB · CA′ = AA′ ·BC� �	�

AC · 2R sin B̂AP +AB · 2R sin ĈAP = AA′ · BC.

*	� AA′ � 2R� �
��

AC sin B̂AP +AB sin ĈAP � BC.

%�	��� �
 �
������
	�� 	��
 ���� ��
�	����
�# �����2���4�
� ��
��
� ���4
�����	#

�������� �� ��� ABC �� ��������� D  �	����� ��
������ ��� A $� M
��%��	�� ������� BC� ��� S ��  ��	�  � ��������� ��	��� DM $� &� P � Q
 ����	����� ��� S  � AB� ��� �	��" AC� 
���������� 	
 �������� �����������
PQ ���� ��� ��	
 ��� ����
 ��	'� �� ����� ���  ��������� ������������ ABC�

A

P

Q

B D M CS

�������# 1	����	�
��� APSQ '��� ������������� �� AS ��	�
���� 	�
�
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� |a| = |b| = |c| = R �� m =
b+ c

2
� �
�� AM =

|2a− b− c|
2
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R(|a− b|+ |b− c|+ |c− a|) � |(b− c)(2a − b− c)| .
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|a− b| |b|+ |b− c| |a|+ |c− a| |c| �
∣∣ab− b2 + ab− ac+ c2 − ac
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= |(b− c)(2a − b− c)| ,
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∫ x

0
f(t)dt � 0�

∀x ∈ [0, 1] $�
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0
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 lim

n→∞n
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0
xnf(x)dx = 0#
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f(x) = 1− 2x 	�
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∫ x

0
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(xn − 2xn+1)dx = lim

n→∞
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n

n+ 1
− 2n
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= −1.
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xnf(x)dx = n

∫ cn
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xnf(x)dx+ n

∫ 1
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xnf(x)dx. (1)
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